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2 8 = H= 21 T o &H(A) PP 21 W of &K(B) PP s
=N (B-A)
# 4,183,986 4,183,985,575 4,185,449 4,185,448, 639 1,463
Bxa4e |2xasel xate | 2xasy 6.840 [0 2x2 42l 6,840,000 - o 2xa4e 0 -6,840
Abd el 3,133,817 3,133,817,080 3,141,923 3,141,923,299 8,106
Azl | Agdael | Aldad 3,043,007 | 0 Ar%2l 3,043,097 ,080 3,099,449 | 0 Atetsel 3,099,449, 169 56,352
AEnsFMdEwsST¢l 720 | 0 AELIETY 720,000 308 | 0 MEMFT 308,000 -412
EIpE o
JESPNE=ES ol E X220l 90,000 | 0 LXtz|oHE Xtz XA+ 90,000,000 42,166 | 0 LA2| bR g X 42,166,130 -47,834
ol —_o [=}
Fael Eaol 1,600 1,600,000 1,797 1,796,845 197
ofl F 0| Xt= | of| FO| RKt=¢) 600 | 0 o 20|t 600,000 797 | 0 ol 20| RI==¢ 796,845 197
J1ER Al | TlE R e 1,000 | 0 7IEFRSQ 1,000,000 1,000 | 0 7IEFRSQ! 1,000,000 00
gus | mdg | dmde | mds Mdo|Ha Aolg =
e om= | oa= e 1,041,728 | 0 MdEo0|2= 1,041,728,495 1,041,728 | 0 M=ol 1,041,728,495 00
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o & = 21 9= ollak(A) MEUS 21 ©d A H(B) SEu= % (5]
o4 (B-
A 4,183,986 4,183,985,575 4,185,449 4,185,448,639 1,463
ApFH| 3,135,874 3,135,873,760 3,081,843 3,081,843,493 54,030
3,111,497 3,111,497,360 3,062,497 3,062,496,695 |- 49,001
HMekelad 2o 101,071,000 HMerelzd 2o 85,851,000
RN E PN E=T¢; =X AL 20
1,993,782 st x| AL Z0 1,892,710,880 1,993,185 st x| AL S0 1,907,334,220] 597
1,993,781,880 1,993,185,220
0 Mehold Jixg 2,400,000 0 MEeld Jis4g 1,200,000
0 Meteldd W™ EIH| 10,129,200 0 Merolad WEF | 9,453,000
0 MEtolad Mol ZA|H| 3,600,000 0 MEtolad Mol ZA|H| 3,400,000
0 Meteld =844 4,187,000 0 Merola =gt 3,114,000
0 Mol o ER/ 7| 900,000 0 MEelzd o{EFIIH| 900,000
0 Metelad i|2dctas| 900,000 0 Merolad & 2fchady| 900,000
0 Merolad AlZte|=g 11,268,206 0 MEtelad A|Zkeg 4,961,250
0 el Exdfg 0 0 Meolyd Exi R4 0
648,145 | 0 FEtolad Xagt 2,400,000 604,067 | 0 Metolad =zt 400,000|- 44,078
0 SSX|HAL AxpE 109,547,616 0 S=X| AL HARpZEH 105,400,891
0 EEX|YA FeE 87,637,728 0 EESX|YA FUSE 63,399,992
0 2SXAAL Eeus4E 9,278,080 0 2SX AL Ees4E 3,897,840
0 EEX|YA FHFE 360,391,680 0 EESX|YA FEHESE 362,858,560
0 XA HYFIIE 30,305,520 0 XA HYFIIE 29,431,780
0 2SR AL HHEFE 15,200,000 0 2SX| YA HHEFE 14,750,000
648,145,030 604,067,313
0 MEeH AEEHRES 12,749,875 0 MErely ARIRERES 10,623,501
1) HYEHREs 1) HEEEREg
2) FoligRerg 2) FoligRez
3) NEEYHREF 3) DS EF
Al'ilgg_‘?_ Al'ilgg_‘?_ 4) M EEEEF 4) AMRESHEeta
i e 255,763 | 4) HH=ET 245,062 | 4) HMEET - 10,700
0 ESX YA AIBEYRET 243,012,631 0 ESX| A AEIERYREF 234,438,506
255,762,506 245,062,007
Metolsd BRI F 10,265,600 Metolad glRlMel 2 10,118,670
SLEX| 2 A Azl SEX| LA EpSETR=
205,928 S| AAL B2 M EF 195,662,344 214,582 S| AAL E =i 204,463,485 8,654
205,927,944 214,582,155
0 Mol yEMETy| 210,000 0 Metolay HEMETU| 300,000
0 MEoly SX|ZQIE 830,000 0 Mol EX|ZIE 830,000
0 2SX| AL IETE 2,280,000 0 ESX| AL s 0
7,880 | | sexiial malZzZ A 4,560,000 0,800 | ) syexioiat malzzZ Ay 4,470,000 2,280
7,880,000 5,600,000
3,280 3,280,000 2,520 2,520,000 760
0 2g9d ey 2,280,000 0 2g9d 2lely| 1,520,000
1. g 1,470,000 1. 3|ol| 980,000
e P 810,000 . ALAH| 540,000
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EEE] EEE 3,280 2,520 - 760
0 MB7|2 ARX=Q ZHFs|H| 1,000,000 0 MB7|2 MRXIZQ Zhehs|u| 1,000,000
3,280,000 2,520,000
29| 21,096 21,006,400 16,827 16,826,798 |- 4,270
0 ESX| AL E[RAZ 2 6,000,000 0 ESX| YA E[AAZ 2 4,914,308
0 AZAEMHE[A 1,200,000 0 AZAEMHE[A 584,340
0 AHREZ oyl 1,200,000 0 AFR2E 7ol 600,000
coul o |coul o 0 AZE oIy 1,200,000 0 AZE FolH| 600,000
TS = TS = T
AnE ~z 12,120 | 0 SA7| B 660,000 7,959 | 0 2AP7| Atz 330,000|- 4,161
T 0 A=A~ 0|82 660,000 0 HZHA 0|82 330,000
0 7|Et2dy| 1,200,000 0 7|2y 600,000
12,120,000 7,958,648
0 Shat7|oi Z(UT-55) 4,976,400 0 Shat7|ci 2 (UT-55) 4,911,990
3= 3= 4,976 4,912 - 64
4,976,400 4,911,990
0 HiAFE S 7ol 2,450,000 0 HiAME S 7ol 2,450,000
0 Asl 2 & otely] 1,520,000 0 Asl 2 & otely| 1,476,160
HMzzz | AM2zn2 4,000 | 0 ®MEtolad AlsjES 30,000 3,956 | 0 Metelzd AlslE e 30,000/~ 44
4,000,000 3,956,160
PN ESST 5,000 5,000,000 5,000 5,000,000 -
Al Adt] 5,000 5,000,000 5,000 5,000,000 -
0 AHakE S| 5,000,000 EREET 5,000,000
RHAHE SH| | KpakR S| 5,000 5,000 -
5,000,000 5,000,000
NET 26,718 26,718,000 21,748 21,748,140|- 4,970
NI 26,718 26,718,000 21,748 21,748,140|- 4,970
0 S4ly| 1,080,000 0 SAlH| 1,029,000
1. AOE ZAM X| Y] 1,080,000 1. AOIEZ AN X| Y| 1,029,000
0 BEX A 2| 1,518,000 0 BEX A 29| 768,690
1. BEX|AAE ST SH| 1,368,000 1. BEX|AAE ST SH| 618,690
2. SX| YA AgE = SH| 150,000 2. X YA AgtE =W FH| 150,000
0 BEX YA Bl B 11,400,000 0 BEXYA el 11,160,000
1. AlA]| 6,400,000 1. AlA]| 6,160,000
2. RLEBEX|YALZ A 1,500,000 2. RLBEX|YALE A 1,500,000
3. AE A 500,000 3. AEA A 500,000
4. 7| =N = 3,000,000 4. 7|\ EH x| 3,000,000
0 olgxf a2y 800,000 0 olgx #e|eg| 320,000
1. Ol BAIE g2y 800,000 1. O| @A IE g2y 320,000
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Abedt] Abedt] ’ e oS 21,748 |0 o s ’
2. E2H| 1,800,000 2. E8H| 1,800,000
3. DSR2 H=H| 1,700,000 3. ISXEH =] 1,590,000
0 AMeely msH| 1,200,000 0 MEeld msH| 650,000
0 E8H] 2,000,000 0 ZHH| 2,000,000
EEEENZH| 2,000,000 EEEEN 2| 2,000,000
0 A&mSH| 720,000 0 AZmSH| 180,450
Absll & 1,800 LM EE 900
SE=tal= 718,200 e = 179,550
0 7|Et2gH| 0 0 7|Et2gH| 0
26,718,000 21,748,140
of|H|H| of|H|H| 978,971 978,971,008 1,038,235 1,038,234,926 59,264
978,971 978,971,008 1,038,235 1,038,234,926 59,264
ey 0 FEXZS0 HHEE 5,000,000 0 FEXSS0 BHEE 5,000,000
; < 5,000 5,000 -
uhehg uhehs
5,000,000 5,000,000
7| = 7| A =
AUzl 0 X7|HE o|eF 973,971,008 0 X7|HAE ol 3 1,033,234,926
- 973,971 1,033,235 59,264
= 973,971,008 1,033,234,926
= = 37,423 37,422,807 38,622 38,622,080 1,199
37,423 37,422,807 38,622 38,622,080 1,199
0 AlM M&Z 0 AlM M&Z
1. Ato|{erEMIE (ars) 11,409,200 1. AbO|B{EH& MIE] 10,071,043
2. o7t SR ALY 1,009,607 2. 58EM 1,009,607
IS 3. EHMHETIUE 9,240,000 3. MRZA 6,886,730
HEZ 37,423 |4. ZZtEAMY 5,764,000 38,622 (4. ofrizt= 4,654,700 1,199
5. Toabea|Aly 10,000,000 5. AELIEAIY 10,000,000
6. ZELHIT|SSYLEXHAI 6,000,000
37,422,807 38,622,080




